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Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    

CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

 (Only for Fresh/Re-appear/Improvement/Additional Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 70 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 20 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 20 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : A SET : A 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 

 (iii) ç'u la[;k 1 esa iUnzgiUnzgiUnzgiUnzg (i - xv) oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u 1 vad dk gSA ftuds lghlghlghlgh 
mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 

 (iv) ç'u la[;k 2 ls  9 rd vfry?kq mÙkjh; ç'u gSaA çR;sd iz'u 2 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 10 ls  17 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 40 'kCnksa esa nhft,A 
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 (vi) ç'u la[;k 18 ls  20 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkhlHkhlHkhlHkh    nh?kZ mÙkjh; iz'uksa esa 
vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying 

1 mark each. Candidates have to write the correct answer in their answer-

book. 

 

 (iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks 

each. Answer these in about 30 words each. 

 (v) Question Numbers 10 to 17 are short answer type questions of 3 marks 

each. Answer these in about 40 words each. 

 (vi) Question Numbers 18 to 20 are long answer type questions of 5 marks each. 

Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all long 

answer type questions of 5 marks each. You have to attempt only one of the 

given choice in such questions. 
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[ oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u ]    

[ Objective Type Questions ] 

  1. (i) leijkljh foy;uksa esa leku gksrk gS % 1 

  (A) lkUnzrk (B) ijklj.k nkc 

  (C) i`"Bh; ruko (D) ';kurk  

  Isotonic solutions are those solutions which have same : 

  (A) Concentration (B) Osmotic Pressure 

  (C) Surface Tension (D) Viscocity  

 

 

 (ii) LVSaMMZ gkbMªkstu bysDVªksM (SHE) ds fy, LVSaMMZ bysDVªksM iksVsfU'k;y gS % 1 

  (A) –0.5 V (B) + 1.0 V 

  (C) 0.0 V (D) + 2.0 V 

  Standard Electrode Potential for Standard Hydrogen Electrode (SHE) is : 

  (A) –0.5 V (B) + 1.0 V 

  (C) 0.0 V (D) + 2.0 V 
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 (iii) fuEufyf[kr osx fLFkjkad ls vfHkfØ;k dh dksfV Kkr dhft, % 1 

116106.1 −−−
×= SecMolLK  

  (A) 'kwU; (B) izFke 

  (C) f}rh; (D) buesa ls dksbZ ugha  

  Identify the order of reaction from the given rate constant 

116106.1 −−−
×= SecMolLK  : 

  (A) Zero (B) First 

  (C) Second (D) None of these 

 

 (iv) ;kSfxd [ ]ClCONHCo )()( 353  esa dksckYV dh milgla;kstdrk D;k gS \  1 

  (A) 4 (B) 6 

  (C) 8 (D) 5 

  What is the co-ordination number of Cobalt in the [ ]ClCONHCo )()( 353  
compound ? 

  (A) 4 (B) 6 

  (C) 8 (D) 5 
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 (v) fuEufyf[kr esa ls fdldk f}/kqzo vk?kw.kZ lokZf/kd gksxk \  1 

  (A) 3CHCl  (B) ClCH3   

  (C) 22ClCH  (D) 4CCl   

  Which one of the following has the highest dipole moment ? 

  (A) 3CHCl  (B) ClCH3   

  (C) 22ClCH  (D) 4CCl   

 (vi) vfHkfØ;k BAHIOCHHC
K

+ →+
373

356  esa] A vkSj B gSa %  1 

  (A) OHCHIHC 356 ,   

  (B) ICHOHHC 356 ,  

  (C) ICHOHCHHC 3256 ,   

  (D) OHHCICHCH 5623 ,  

  In the reaction ,
373

356 BAHIOCHHC
K

+ →+  A and B are : 

  (A) OHCHIHC 356 ,   

  (B) ICHOHHC 356 ,  

  (C) ICHOHCHHC 3256 ,   

  (D) OHHCICHCH 5623 ,  
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 (vii) ;kSfxd CHCHOCHHC =56  dk IUPAC uke ………….. gSA 1 

  IUPAC name of the compound CHCHOCHHC =56  is ………….. . 

 (viii) ,sfFky ,sehu ty esa ?kqyu'khy gSA ysfdu ,sfuyhu ty esa ?kqyu'khy ugha gSA 1 

  Ethyl amine is soluble in water but Aniline does not. 

 (ix) fuEu esa ls dkSu-lk {kkjd RNA esa gS ysfdu DNA esa ugha \ 1 

  (A) Fkk;ehu (B) lkbVkslhu 

  (C) Xokuhu (D) ;wjsfly 

  Which base is present in RNA but not in DNA ?  

  (A) Thymine (B) Cytosine 

  (C) Guanine (D) Uracil 

 

 (x) vfHkfØ;k dh dksfV gS ………….., tc 14103 −−
×= SK . 1 

  Order of reaction is ………….., when 14103 −−
×= SK . 
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 (xi) fuEu lehdj.k dks iwjk dhft, % 1 

.............
443

. 42
23

K

SOHConc
OHCHCH  →  

  Complete the following equation : 

.............
443

. 42
23

K

SOHConc
OHCHCH  →  

 (xii) foVkfeu ^Mh* dh deh ls gksus okyh chekjh ………….. gSA 1 

  Deficiency of Vitamin 'D' causes ………….. .  

 (xiii) leijkljh foy;u D;k gSa \ 1 

  What are isotonic solutions ? 

 (xiv) ])([ 63 CNFeK ;kSfxd dk IUPAC uke fyf[k,A 1 

  Write IUPAC name of ])([ 63 CNFeK  Compound. 

 (xv) QhukWy] ,sYdksgy ls T;knk vEyh; D;ksa gS \ 1 

  Why Phenol is more Acidic then Alcohol ? 
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[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u ]    

[ Very Short Answer Type Questions ]        

  2. ml foy;u dh eksyjrk dh x.kuk dhft, ftlesa 4g NaOH, 200 ml foy;u esa ?kqyk gqvk gSA 2 

  Calculate the Molarity of a solution containing 4g NaOH in 200 ml of solution. 

  3. mRizsjd rFkk lfØ;.k ÅtkZ dks ifjHkkf"kr dhft,A 2 

 Define Catalyst and Activation Energy.  

  4. leUo; la[;k fdls dgrs gSa \ [ ]
2

6
−

PtCl  esa IysfVue dh leUo; la[;k Kkr djsaA 2 

 What is co-ordination number ? What will be the co-ordination number of Pt in  

[ ]
2

6
−

PtCl  ? 

 

  5. fuEufyf[kr gSykstu ;kSfxd tksM+ksa esa ls dkSu rhoz 2SN  vfHkfØ;k nsxk ? 2 

 (i)            ClCH2  vkSj              Cl 

 (ii)         I  vkSj            Cl 

 In the following pairs of halogen compound which would undergo 2SN  reaction 

faster ? 

 (i)            ClCH2  and             Cl 

 (ii)          I  and          Cl 
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   6. laØe.k /kkrq,¡ rFkk muds vf/kdka'k ;kSfxd vuqpqacdh; D;ksa gSa \ 2 

 Why transition metals and many of their compounds show paramagnetic 

behaviour ?  

  7. dksYcs vfHkfØ;k dh mnkgj.k lfgr O;k[;k dhft,A 2 

 Explain with example Kolbe's reaction.  

  8. dkj.k crkb, fd] D;ksa ,sFksukWy dk DoFkukad esFkkWDlhesFksu ls vf/kd gS \ 2 

 Give reason for the higher boiling point of ethanol in comparison to 

methoxymethane ? 

  

  9. xkVjeku vfHkfØ;k fyf[k,] xkVjeku vfHkfØ;k dks lSUMek;j vfHkfØ;k ls vf/kd izkFkfedrk D;ksa nh tkrh 
gS \  2 

 Write down the Gattermann reaction, and why this reaction preferred over 

Sandmeyer reaction ?  

[ y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u    ]    
[ Short Answer Type Questions ] 

10. (i) gsujh dk fu;e rFkk nks nks nks nks vuqiz;ksx nhft,A 2 

  State Henry's law and give two applications. 

 (ii) rki c<+kus ij xSlksa dh nzoksa esa foys;rk esa ges'kk deh vkus dh izo`fÙk D;ksa gksrh gS \ 1 

  Why do gases always tend to be less soluble in liquids as the temperature is 

raised ? 
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11. fuEufyf[kr ds vip;u ;k vkWDlhdj.k ds fy, fdrus vkos'k dwykWe dh vko';drk gS \  

 (i) ,d eksy +3Al  dks Al  1 

 (ii) ,d eksy OH2  dks 2O  1 

 (iii) ,d eksy −

4MnO  dks +2Mn  1 

 How much charge required in Coulomb for the following reductions or   

oxidations ? 

 (i) 1 mole of +3Al  to Al  
 (ii) 1 mole of OH2  to 2O  

 (iii) 1 mole of −

4MnO  to +2Mn  

12. ,d izFke dksfV dh vfHkfØ;k esa 30% fo;kstu gksus esa 40 feuV yxrs gSaA 2/1t dh x.kuk dhft,A 3  

 A first order reaction takes 40 min. for 30% decomposition. Calculate half-life 

period.  

13. ,dnUrh] f}nUrh ,oa mHk;nUrh fyxs.M D;k gS \ izR;sd dk mnkgj.k nhft,A 3 

 What is meant by unidentate, didentate, and ambidentate ligand ? Give an 

example of each. 

14. laf{kIr fVIi.kh fy[ksa %   

 (a) fÝ;kWu    1 

 (b) Mh0 Mh0 Vh0   1 

 (c) VsVªkDyksjksehFksu   1 
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 Write short notes on : 

 (a) Freon 

 (b) D.D.T. 

 (c) Tetrachloromethane 

15. ,FksukWy ds vEyh; futZyu ls ,Fkhu izkIr djus ds rhu pj.kksa dh fØ;kfof/k fyf[k,A 3 

 Write three steps mechanism of acid dehydration of ethanol to yield ethene. 

16. (i) ;qXeu vfHkfØ;k ij y?kq fVIi.kh fyf[k,A 2 

  Write short note on coupling reaction.  

 (ii) izkFkfed ,sehu ds la'ys"k.k esa xSfcz,y FkSfyekbM la'ys"k.k dks izkFkfedrk D;ksa nh tkrh gS \ 1 

  Why Gabriel phthalimide synthesis is preferred for synthesizing primary 
amines ? 

17. (i) LVkpZ rFkk lsyqyksl esa eq[; lajpukRed vUrj D;k gS \ 2 

  What is the basic structural difference between starch and cellulose ? 

 (ii) vuko';d ,sehuks vEy D;k gksrs gSa \   1 

  What are non-essential amino acid ?  

[ nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u    ]    

[ Long Answer Type Questions ] 

18. (i) QSjkMs ds fo|qr vi?kV~; ds nksuksa fu;eksa dk o.kZu djsaA 3 

  Explain the both laws of Faraday Electrolysis. 
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 (ii) 23 )(NONi  ds ,d foy;u dk IySfVue bysDVªksMksa ds chp 5 ,sfEi;j dh /kkjk izokfgr djrs gq, 

20 feuV rd fo|qr~ vi?kVu fd;k x;k] Ni dh fdruh ek=k dSFkksM ij fu{ksfir gksxh \ 

)7.58( =Ni  2 

  A solution of 23 )(NONi  is electrolysed between platinum electrode using a 

current of 5 ampere for 20 min., what mass of Ni is deposited at cathode ? 

)7.58( =Ni  

vFkokvFkokvFkokvFkok    

OR 

 

 (i) oS|qrjklk;fud Js.kh D;k gS \ blds vuqiz;ksx nhft,A 3 

  What is electrochemical series ? Give its applications. 

 

 (ii) ;fn ,d /kkfRod rkj esa 0.5 ,sfEi;j dh /kkjk 2 ?kaVksa ds fy, izokfgr gksrh gS] rks rkj esa ls fdrus 
bysDVªkWu izokfgr gksaxs \   2 

  If a current of 0.5 ampere flows through a metallic wire for 2 hours, then 

how many electrons would flow through the wire ? 

19. dkj.k nsrs gq, Li"V/o.kZu djsa %  

 (i) laØe.k rÙo ,oa muds ;kSfxd vuqpqEcdh; O;ogkj D;ksa fn[kkrs gSa \ 1 

 (ii) laØe.k rÙoksa dh d.ku ,sUFkSYih vf/kd D;ksa gksrh gS \ 1 
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 (iii) laØe.k rÙo lkekU;r;k jaxhu ;kSfxd D;ksa cukrs gSa \ 1 

 (iv) laØe.k rÙo vPNs mRiszjd D;ksa gS \   1 

 (v) 
−

4MnO vk;u dh lajpuk cukb,A   1 

 Explain giving reason : 

 (i) Transition metal and many of their compounds show paramagnetic 

behaviour. 

 (ii) The enthalpy of atomization of the transition metal are high. 

 (iii) The transition metal generally forms coloured compounds. 

 (iv) Transition metal acts as good catalyst. 

 (v) Draw the structure of 
−

4MnO
 
Ion. 

vFkokvFkokvFkokvFkok    

OR 

 (i) ikbjksyqlkbV v;Ld ls 4KMnO cukus ds fy, fofHkUu inksa dk mYys[k dhft,A 3 

  Describe the preparation of 4KMnO  from Pyrolusite ore. 

 (ii) feJkrq,¡ D;k gSa \ nks nks nks nks mnkgj.k nhft,A 2 

  What are alloys ? Give two examples. 

www.mseducationtv.com



  ( 15 ) 229/(Set : A) 

229/(Set : A)   P. T. O. 

20. (a) fuEu dk o.kZu djsa % 2 

  (i) dSfutkjks vfHkfØ;k 

  (ii) fMdkcksZfDlys'ku 

 (b) ,sFksuy dks fuEu esa ifjofrZr djsa %   3 

  (i) C;wVsu 1, 3-MkbZvkWy 

  (ii) C;wV 2-busy 

  (iii) C;wV-2 buksbd ,sflM  

 (a) Describe the following :  

  (i) Cannizaro Reaction 

  (ii) Decarboxylation 

 (b) Convert Ethanal into following : 

  (i) Ethanal to Butane 1,3-diol 

  (ii) Ethanal to But 2-enal 

  (iii) Ethanal to But-2 enoic acid 
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vFkokvFkokvFkokvFkok    

OR 

 vfHkfØ;k dk lehdj.k }kjk o.kZu dhft, %  

 (i) ØkWl ,sYMksy la?kuu vfHkfØ;k 2 

 (ii) gsy-QksykMZ tsfyaLdh vfHkfØ;k 2 

 (iii) ,LVjhdj.k 1 

 Describe the reaction with the help of equation : 

 (i) Cross Aldol condensation reaction 

 (ii) Hell-Volhard-Zelinsky reaction 

 (iii) Esterification  

 

S 
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CLASS : 12th (Sr. Secondary) Code No. 229 
Series : SS/Annual-2023 

Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    
CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

 (Only for Fresh/Re-appear/Improvement/Additional Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 70 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 20 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 20 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : A SET : B 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    
 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    
 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 
 (iii) ç'u la[;k 1 esa iUnzgiUnzgiUnzgiUnzg (i - xv) oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u 1 vad dk gSA ftuds lghlghlghlgh 

mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 
 (iv) ç'u la[;k 2 ls  9 rd vfry?kq mÙkjh; ç'u gSaA çR;sd iz'u 2 vadksa dk gSA izR;sd iz'u dk mÙkj 

yxHkx 30 'kCnksa esa nhft,A 
 (v) ç'u la[;k 10 ls  17 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u dk mÙkj 

yxHkx 40 'kCnksa esa nhft,A 
 (vi) ç'u la[;k 18 ls  20 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd iz'u dk mÙkj 

yxHkx 70 'kCnksa esa nhft,A 
 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkhlHkhlHkhlHkh nh?kZ mÙkjh; iz'uksa esa 

vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u djuk gSA 
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General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying 
1 mark each. Candidates have to write the correct answer in their answer-
book. 

 (iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks 
each. Answer these in about 30 words each. 

 (v) Question Numbers 10 to 17 are short answer type questions of 3 marks 
each. Answer these in about 40 words each. 

 (vi) Question Numbers 18 to 20 are long answer type questions of 5 marks each. 
Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all long 
answer type questions of 5 marks each. You have to attempt only one of the 
given choice in such questions. 

[    oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u    ]    
[ Objective Type Questions ] 

  1. (i) 42SOK  ds fy;s okUV gkWQ QSDVj (i ) dk eku gksxk % 1 

  (A) 1 (B) 2 

  (C) 0 (D) 3 

  The Vant Hoff's factor (i ) for 42SOK  is : 

  (A) 1 (B) 2 

  (C) 0 (D) 3 
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 (ii) tyh; lksfM;e DyksjkbM fo|qr~ vi?kVu ij dSFkksM ij nsrk gS % 1 

  (A) Dyksjhu 

  (B) lksfM;e 

  (C) lksfM;e veyxe 

  (D) gkbMªkstu 

  Fused NaCl on electrolysis gives  on Cathode is :  

  (A) Chlorine 

  (B) Sodium 

  (C) Sodium Amalgam 

  (D) Hydrogen 

 (iii) fdlh vfHkfØ;d ds fy, ,d vfHkfØ;k f}rh; dksfV dh gSA vfHkfØ;k dk osx dSls izHkkfor gksxk] 

;fn vfHkfØ;d dh lkanzrk vk/kh dj nh tk, \ 1 

  (A) 4 xq.kk (B) 2 xq.kk 

  (C) 
4

1  xq.kk (D) 8 xq.kk  

  A reaction is second order with respect to reactant. How is rate of reaction 

affected if concentration of reactant is reduced to half ? 

  (A) 4 times (B) 2 times  

  (C) 
4

1
 times (D) 8 times 
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 (iv) ;kSfxd ( )[ ]ClenCoCl 22  esa dksckYV dh milgla;kstdrk D;k gS \ 1 

  (A) 6 (B) 4 

  (C) 8 (D) 2 

  What is the co-ordination number of cobalt in the ( )[ ]ClenCoCl 22  
compound ? 

  (A) 6 (B) 4 

  (C) 8 (D) 2 

 (v) ,d r`rh;d ,Ydkby gsykbM izkFkfedrk ls n'kkZrk gS % 1 

  (A) 
2

NS   

  (B) foyksiu 

  (C) ;ksxt  

  (D) 1
NS   

  A tertiary alkyl halide would prefer to undergo : 

  (A) 
2

NS   

  (B) Elimination 

  (C) Addition  

  (D) 1
NS  
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 (vi) vfHkfØ;k A
K

SOHconc
OHCHCH →

413

. 42
23  esa ( A D;k gksxk \ 1 

  (A) 3223 CHCHCHCH   

  (B) 3223 CHOCHCHCH  

  (C) 323 CHOCHCH   

  (D) 22 CHCH =  

  In the reaction A
K

SOHconc
OHCHCH →

413

. 42
23 ; A will be : 

  (A) 3223 CHCHCHCH   

  (B) 3223 CHOCHCHCH  

  (C) 323 CHOCHCH   

  (D) 22 CHCH =  

 (vii) ;kSfxd HOOC–COOH dk IUPAC uke -------------- gSA 1 

  IUPAC name of compound HOOC–COOH is ------------ . 
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 (viii) gkWQeku czksekekbM fuEuhdj.k vfHkfØ;k esa D;k mi;ksx gS \ 1 

  (A) 256 NHHC   

  (B) 256 CONHHC  

  (C) 256 NOHC   

  (D) OHHC 56   

  Hofmann bromamide degradation reaction involve : 

  (A) 256 NHHC   

  (B) 256 CONHHC  

  (C) 256 NOHC   

  (D) OHHC 56  

 (ix) Xykbdkstu fuEu esa ls fdldk mnkgj.k gS \ 1 

  (A) izksVhu  

  (B) ikWfylSdsjkbM 

  (C) eksukslSdsjkbM  

  (D) MkblSdsjkbM 
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  Glycogen is an example of : 

  (A) Protein   

  (B) Polysaccharide 

  (C) Monosaccharide  

  (D) Disaccharide 

 (x) vfHkfØ;k dh dksfV gS -----------] tc 114 SmolL103 −−−×=K . 1 

  Order of reaction is .........., when 114 SmolL103 −−−×=K . 

 (xi) fuEufyf[kr vfHkfØ;k dks iwjk dhft, % 1 

  Complete the following reaction : 

 →
)anhydrous(3

2
CrO

OHCHR ………… 

 (xii) foVkfeu ^,* dh deh ls gksus okyh chekjh ---------- gSA 1 

  Deficiency of Vitamin 'A' causes ............ . 

 (xiii) DoFkukad ds mUu;u dk dkj.k D;k gS \ 1 

  What is the cause of elevation in boiling point ? 

 (xiv) ( )[ ] 363 ClNHCo ;kSfxd dk IUPAC uke fyf[k,A 1 

  Write IUPAC name of ( )[ ] 363 ClNHCo compound. 
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 (xv) ,sFksukWy dk ,sFkhu esa futZyu ds fy, iz;qDr vfHkdeZd dk uke crkb,A 1 

  Name the reagent used in dehydration of Ethanol into Ethene. 

[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u    ]    

[ Very Short Answer Type Questions ] 

  2. ml foy;u dh eksyjrk dh x.kuk dhft, ftlesa 5.6 g KOH, 500 ml foy;u esa ?kqyk gqvk gSA 2 

 Calculate the molarity of a solution containing 5.6 g KOH in 500 ml of solution.  

  3. vfHkfØ;k dksfV rFkk rkR{kf.kd osx dks ifjHkkf"kr dhft,A 2 

 Define order of reaction and instantaneous rate of reaction. 

  4. fuEu dk o.kZu djsa % 2 

 (i) mHk;nUrh fyxsUM 

 (ii) leUo; la[;k 

 Explain the following : 

 (i) Ambident Ligands 

 (ii) Co-ordination Number 
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  5. fuEufyf[kr gSykstu ;kSfxd tksM+ksa esa ls dkSu rhoz 1SN  vfHkfØ;k nsxk \ 2 

 In the following pairs of halogen compounds which compound undergoes faster 
1SN  reaction ? 

 

  

 (i)   rFkk (and)                 (ii)                             rFkk (and)   

  6. laØe.k /kkrqvksa dh d.ku ,UFkSYih ds eku mPp D;ksa gksrs gSa \ 2 

 Why the enthalpies of atomization of the transition metals are high ?  

  7. fofy;Elu bZFkj la'ys"k.k dh mnkgj.k lfgr O;k[;k dhft,A 2 

 Explain with example Williamson Ether Synthesis. 

  8. fuEu dk o.kZu djsa % 2 

 (i) dSfutkjks vfHkfØ;k 

 (ii) ,slhfVyhdj.k 

 Describe the following : 

 (i) Cannizaro reaction 

 (ii) Acetylation 

  9. f}rh;d ,oa r`rh;d ,sehu esa foHksn ds fy, ,d,d,d,d jklk;fud ijh{k.k nhft,A 2 

 Give one chemical test to distinguish between secondary and tertiary amines. 

Cl 

Cl 
Cl 

Cl 

www.mseducationtv.com



  ( 11 ) 229/(Set : B) 

229/(Set : B)   P. T. O. 

[ y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u    ]    

[ Short Answer Type Questions ]   

10. (i) eksy va'k rFkk nzO;eku izfr'kr dks ifjHkkf"kr dhft,A 2 

  Define mole fraction and mass percentage. 

 (ii) ,d Bksl foy;u ftlesa foys; ,d xSl gS] ,d mnkgj.k nhft,A 1 

  Give an example of a solid solution in which the solute is a gas. 

11. fuEufyf[kr ds vip;u ;k vkWDlhÑr ds fy, fdrus vkos'k dwykWe dh vko';drk gS %  

 (i) ,d eksy +2Cu  dks Cu  1 

 (ii) ,d eksy FeO  dks 32OFe  1 

 (iii) ,d eksy −2
4MnO  dks 2MnO  1 

 How much charge required in Coulomb for the following reductions or   

oxidations ? 

 (i) 1 mole of +2Cu  to Cu  

 (ii) 1 mole FeO  to 32OFe  

 (iii) 1 mole of −2
4MnO  to 2MnO  
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12. n'kkZb, fd izFke dksfV dh vfHkfØ;k esa 99% vfHkfØ;k iw.kZ gksus esa yxk le; 90% vfHkfØ;k iw.kZ gksus 

esa yxus okys le; ls nqxquk gksrk gSA 3  

 For a first order reaction, show that time required for 99% completion is twice 

the time required for completion of 90% of the reaction. 

13. le>kb, D;ksa [ ]
−2

4NiCl  vuqpqacdh; gS tcfd ( )[ ]4CONi  izfrpqacdh; gS ;|fi nksuksa prq"Qydh; gSa \ 3 

 Explain why [ ]
−2

4NiCl  is paramagnetic while ( )[ ]4CONi  is diamagnetic though 

both are tetrahedral ? 

14. (i) mHk;nUrh U;wfDy;ksQkby D;k gksrs gSa] mnkgj.k lfgr le>kb, \ 2 

 (ii) fuEu ds mi;ksx fy[ksa % 1 

  (a) fÝ;ku 

  (b) Mh0 Mh0 Vh0 

 (i) What are Ambident Nucleophiles, explain with an example ? 

 (ii) Give the uses of : 

  (a) Freon  

  (b) D.D.T. 

15. vkFkksZ-ukbVªksQhukWy ,oa iSjk-ukbVªksQhukWy] QhukWy ls vf/kd vEyh; D;ksa gS \ QhukWDlkbM vk;u ds 
vuqukn lajpuk cukb;sA  3 

 Why ortho-nitrophenol and para-nitrophenol are more acidic then phenol ? 

Draw the resonance structure of phenoxide ions. 
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16. (i) dkfcZy,sehu vfHkfØ;k ij y?kq fVIi.kh fyf[k,A 2 

  Write short note on carbylamine reaction. 

 (ii) D;ksa ,sfFky,sehu ty esa foys; gS tcfd ,sfuyhu ugha gS \ 1 

  Why ethylamine is soluble in water whereas aniline is not ? 

17. (i) RNA rFkk DNA esa vUrj nhft,A 2 

  Give differences between RNA and DNA. 

 (ii) tSo&v.kq D;k gksrs gSa \ nksnksnksnks mnkgj.k nhft,A  

  What are Biomolecules ? Give two examples. 1 

[ nh?kZnh?kZnh?kZnh?kZ    mÙkjh; iz'umÙkjh; iz'umÙkjh; iz'umÙkjh; iz'u    ]    

[ Long Answer Type Questions ] 

18. (i) dksyjkm'k dk fu;e D;k gS \ blds vuqiz;ksxksa dh foospuk dhft,A 3 

  What is Kohlrausch law ? Discuss its applications. 

 (ii) 4CuSO  ds foy;u dks 1.5 ,sfEi;j dh /kkjk ls 10 feuV rd oS|qr vi?kfVr fd;k x;kA dSFkksM 

ij fu{ksfir dkWij dk nzO;eku D;k gksxk \ (Cu 
63.5) 2 

  A solution of 4CuSO  is electrolysed for 10 minutes with a current of 1.5 

amperes. What is the mass of copper deposited at the cathode ? (Cu 
63.5) 
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vFkokvFkokvFkokvFkok    
OR 

 (i) la{kkj.k D;k gS \ la{kkj.k dks c<+kus okys dkjd nhft, rFkk la{kkj.k ls cpkus dh fof/k;ksa dk uke 
nhft,A   3 

  What is Corrosion ? Give factors which promotes corrosion and name the 
methods to prevent corrosion.  

 (ii) 0.02 mol L
–1 esFksuksbd vEy dh pkydrk 46.1 S cm2 mol

–1 gSA bldh fo;kstu ek=k dk 
ifjdyu dhft,A fn;k x;k gS fd 12

)(
molcmS6.349 −

+ =°λ
H

,oa 

12molcmS6.54 −






 − =°λ
HCOO

.

  
2 

  The molar conductivity of 0.02 mol L
–1
 methanoic acid is 46.1 S cm2 mol

–1
. 

Calculate its degree of dissociation. Given 12

)(
molcmS6.349 −

+ =°λ
H

  and 

12molcmS6.54 −






 − =°λ
HCOO

. 

19. (i) 722 OCrK  dh vkWDlhdj.k fØ;k dk mYys[k dhft, rFkk fuEufyf[kr ds lkFk vk;fud lehdj.k 

fyf[k, % (a) vk;ksMkbM vk;u (b) vk;ju (II) foy;u (c) H2S. 3 

  Describe the oxidising action of 722 OCrK  and the ionic equations for its 

reaction with : (a) iodide ion (b) iron (II) solution (c) H2S. 

 (ii) tyh; foy;u esa f=la;ksth vk;u ds pqacdh; vk?kw.kZ dh x.kuk dhft,] ;fn bldk ijek.kq Øekad 

27 gSA   2 

  Calculate magnetic moment of a trivalent ion in aqueous solution with 

atomic number 27. 
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vFkokvFkokvFkokvFkok    

OR 

 (i) ySUFksukW;M vkdqapu D;k gS \ blds dkj.k rFkk ifj.kke nhft,A 3 

  What is lanthanoid contraction ? Give its causes and consequences. 

 (ii) laØe.k rRo vusd ladqy ;kSfxdksa dh jpuk D;ksa djrs gSa \ mnkgj.k lfgr O;k[;k dhft,A 2 

  Why do transition elements exhibit tendency for complex formation ? 

Explain with example. 

20. fuEu ls D;k rkRi;Z gS] izR;sd dks mnkgj.k lfgr le>kb;s \ 5 

 (i) lkbuksgkbfMªu 

 (ii) 2, 4 Mh0 ,u0 ih0 

 (iii) dksYcs bysDVªksfyfll 

 (iv) gseh&,slhVsy 

 (v) dhVsy 

 What is meant by following term's, give an example of the reaction in each case ? 

 (i) Cynohydrin 

 (ii) 2, 4, D.N.P. 

 (iii) Kolbe's Electrolysis  

 (iv) Hemi-acetal 

 (v) Ketal  
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vFkokvFkokvFkokvFkok    
OR 

 lehdj.k }kjk o.kZu dhft, % 

 Describe with equation : 

 (i) oksYQ&fd'uj vip;u 2 

  Wolff-Kishner reduction  

 (ii) ,sYMksy la?kuu vfHkfØ;k 2 

  Aldol condensation reaction  

 (iii) fodkcksZfDlyu vfHkfØ;k 1 

  Decarboxylation reaction 

 

SSSS  
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CLASS : 12th (Sr. Secondary) Code No. 229 
Series : SS/Annual-2023 

Roll No. 

jlk;u foKkujlk;u foKkujlk;u foKkujlk;u foKku    

CHEMISTRY 

[ Hindi and English Medium ]  

ACADEMIC/OPEN 

 (Only for Fresh/Re-appear/Improvement/Additional Candidates) 

Time allowed : 3 hours ] [ Maximum Marks : 70 

•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 20 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 20 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : A SET : C 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

    

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 

 (iii) ç'u la[;k 1 esa iUnzgiUnzgiUnzgiUnzg (i - xv) oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u 1 vad dk gSA ftuds lghlghlghlgh 
mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 

 (iv) ç'u la[;k 2 ls  9 rd vfry?kq mÙkjh; ç'u gSaA çR;sd iz'u 2 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 10 ls  17 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 40 'kCnksa esa nhft,A 

www.mseducationtv.com



  ( 3 ) 229/(Set : C) 

229/(Set : C)   P. T. O. 

 (vi) ç'u la[;k 18 ls  20 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh lHkh lHkh lHkh nh?kZ mÙkjh; iz'uksa esa 
vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying 

1 mark each. Candidates have to write the correct answer in their answer-

book. 

 

 (iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks 

each. Answer these in about 30 words each. 

 (v) Question Numbers 10 to 17 are short answer type questions of 3 marks 

each. Answer these in about 40 words each. 

 (vi) Question Numbers 18 to 20 are long answer type questions of 5 marks each. 

Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all long 

answer type questions of 5 marks each. You have to attempt only one of the 

given choice in such questions. 
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[ oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u    ]    

[ Objective Type Questions ] 

  1. (i) fLFkj DoFkukad okys feJ.k dks D;k dgrs gSa \  1 

  (A) fLFkjDokFkh (B) vkn'kZ foy;u 

  (C) leijklkjh (D) buesa ls dksbZ ugha   

  Constant Boiling Mixture are called :  

  (A) Azeotropes  (B) Ideal Solution  

  (C) Isotonic  (D) None of these  

 (ii) 'kq"d lsy esa fuEu esa ls dkSu fo|qr vi?kV~; inkFkZ gksrk gS \ 1 

  (A) iksVSf'k;e gkbMªkWDlkbM 

  (B) lY¶;wfjd vEy  

  (C) veksfu;e DyksjkbM  

  (D) eSaxuht MkbvkWDlkbM  
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  In dry cell which of the following is the Electrolyte ? 

  (A) Potassium hydroxide 

  (B) Sulphuric acid 

  (C) Ammonium chloride 

  (D) Manganese dioxide  

 (iii) fdlh vfHkfØ;d ds fy, ,d vfHkfØ;k f}rh; dksfV dh gSA vfHkfØ;k dk osx dSls izHkkfor gksxk \ 
;fn vfHkfØ;d dh lkUnzrk nqxquh dj nh tk, \ 1 

  (A) 2 xq.kk (B) 4 xq.kk 

  (C) 8 xq.kk (D) 
4

1
 xq.kk  

 

  A reaction is second order with respect to reactant. How is rate of reaction 

affected ? If concentration of reactant is doubled ?  

  (A) 2 times (B) 4 times  

  (C) 8 times (D) 
4

1
 times 

 (iv) ;kSfxd [ ]3423 )( OCAlK  esa ,sY;qfefu;e dh milgla;kstdrk D;k gS \ 1 

  (A) 3 (B) 4 

  (C) 2 (D) 6 
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  What is the co-ordination number of aluminium in  [ ]3423 )( OCAlK  
compound ? 

  (A) 3 (B) 4 

  (C) 2 (D) 6 

 (v) fuEufyf[kr esa ls fdldk f}/kqzo vk?kw.kZ U;wure gksxk \  1 

  (A) 4CCl  (B) ClCH3   
  (C) 3CHCl  (D) 22ClCH   

  Which one of the following has the lowest dipole moment ? 

  (A) 4CCl  (B) ClCH3   

  (C) 3CHCl  (D) 22ClCH  

 (vi) fuEufyf[kr esa ls dkSu-lk vEy lcls izcy gS \ 1 

  (A) OHCH3  (B) OHCHCH 23  

  (C) CHOHCH 23 )(  (D) COHCH 33 )(  

  In the following which is strongest acid ? 

  (A) OHCH3  (B) OHCHCH 23  

  (C) CHOHCH 23 )(  (D) COHCH 33 )(  
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 (vii) ;kSfxd COOHCCHCH 233 )(  dk IUPAC uke ………….. gSA 1 

  IUPAC name of the compound COOHCCHCH 233 )( is ………….. . 

 (viii) dkSu-lh r`rh;d ,sehu gS \ 1 

  (A) t-C;wfVy,sehu (B) ,fFky,sehu 

  (C) N-esfFky,fFky,sehu (D) Vªkb,fFky,sehu  

  Which is a tertiary amine ?  

  (A) t-butylamine (B) Ethylamine 

  (C) N-Methylethylamine (D) Triethylamine 

 (ix) fuEu esa ls dkSu-lk {kkjd DNA esa gS ysfdu RNA esa ugha \ 1 

  (A) Fkk;ehu (B) lkbVkslhu 

  (C) ,sMsuhu (D) ;wjsfly 

  Which base is present in DNA but not in RNA ?  

  (A) Thymine (B) Cytosine 

  (C) Adenine (D) Uracil 
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 (x) vfHkfØ;k dh dksfV gS ………….., tc 114103 −−−
×= SLmolK . 1 

  Order of reaction is ………….., when 114103 −−−
×= SLmolK . 

 (xi) fuEu lehdj.k dks iwjk dhft, % 1 

 →+
K

HIOCHHC
373

356 ………… 

  Complete the following equation : 

 →+
K

HIOCHHC
373

356 ………… 

 

 (xii) foVkfeu ^ch1* (B1) dh deh ls gksus okyh chekjh ………….. gSA 1 

  Deficiency of Vitamin 'B1' causes ………….. .  

 (xiii) fgekad ds voueu dk dkj.k D;k gS \ 1 

  What is cause of depression in freezing point ? 

 (xiv) [ ] 33233 )()( ClOHNHCr  ;kSfxd dk IUPAC uke fyf[k,A 1 

  Write IUPAC name of [ ] 33233 )()( ClOHNHCr  Compound. 
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 (xv) izkFkfed ,sYdksgkWy dk ,sfYMgkbM esa vkWDlhdj.k ds fy, iz;qDr vfHkdeZd dk uke crkb,A 1 

  Name the reagent used in Oxidation of a primary alcohol to aldehyde. 

 

[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u    ]    

[ Very Short Answer Type Questions ]        

  2. 3 g ,Fksuksbd vEy )( 3COOHCH  ds 500 g csUthu esa foy;u dh eksyyrk dh x.kuk dhft,A 2 

  Calculate molality of 3 g ethanoic acid )( 3COOHCH  in 500 g of Benzene. 

  3. vfHkfØ;k dh vkf.odrk rFkk la?kV~V vko`fÙk dks ifjHkkf"kr dhft,A 2 

 Define Molecularity of a reaction and collision frequency.  

  4. milgla;kstu leko;ork dh mnkgj.k lfgr O;k[;k djsaA 2 

 Explain Co-ordination isomerism with example.  

  5. mHknarh ukfHkdjkxh D;k gksrs gSa \ ,d,d,d,d mnkgj.k dh lgk;rk ls le>kb,A 2 

 What are ambident nucleophiles ? Explain with an example.  

  6. laØe.k /kkrq,¡ lkekU;r% jaxhu ;kSfxd D;ksa cukrh gSa \ 2 

 Why transition metals generally form coloured compounds ?  
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  7. jkbej-Vheu vfHkfØ;k dh mnkgj.k lfgr O;k[;k dhft,A 2 

 Explain with example Reimer-Tiemann reaction.  

  8. izksisuksu dks izksihu esa ifjofrZr djsaA 2 

 Convert Propanone to Propene.  

  9. ,sfuyhu ,oa N-esfFky,sfuyhu esa foHksn ds fy, ,d,d,d,d jklk;fud ijh{k.k nhft,A 2 

 Give one chemical test to distinguish between aniline and N-methylaniline.  

 

[ y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u    ]    
[ Short Answer Type Questions ] 

10. (i) jkmYV ds fu;e ls /kukRed ,oa _.kkRed fopyu dk D;k vFkZ gS \ 2 

   What is meant by positive and negative deviations from Raoult's Law ? 

 (ii) ,sYdksgkWy ,oa ty ds ,d foy;u esa vkf.od vU;ksU;fØ;k dh D;k Hkwfedk gS \ 1 

  What role does molecular interaction play in a solution of alcohol and   

water ? 

11. fuEufyf[kr ds vip;u ;k vkWDlhÑr ds fy, fdrus vkos'k dwykWe dh vko';drk gS \  

 (i) ,d eksy +4Pb  dks +2Pb  1 
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 (ii) ,d eksy 2CaCl  dks Ca 1 

 (iii) ,d eksy −

4MnO  dks 2MnO  1 

 How much charge required in Coulomb for the following reductions or   

oxidations ? 

 (i) 1 mole of +4Pb  to +2Pb  

 (ii) 1 mole of 2CaCl  to Ca 

 (iii) 1 mole of −

4MnO  to 2MnO  

 

12. ,d izFke dksfV dh vfHkfØ;k dk osx fLFkjkad 131015.1 −−
× S  gSA bl vfHkfØ;k esa vfHkdkjd dh 5 g 

ek=k dks ?kVdj 3 g gksus esa fdruk le; yxsxk \ 3  

 A first order reaction has a rate constant 131015.1 −−
× S . How long will 5 g of this 

reactant take to reduce to 3 g ?   

13. le>kb, D;ksa [ ]
+2

62 )( OHNi dk foy;u gjk gS ijUrq [ ] −2
4)(CNNi dk foy;u jaxghu gS \ 3 

 Explain why a solution of [ ]
+2

62 )( OHNi  is green but a solution of [ ]
−2

4)(CNNi  is 
colourless ? 
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14. 1
NS  o 2

NS  vfHkfØ;k esa czkseksC;wVsu ds pkj leko;oh ;kSfxdksa dh vfHkfØ;k'khyrk dk Øe vuqekfur 
dhft,A  3 

 Predict the order of reactivity of the four isomeric bromobutanes in  1
NS  and  

2
NS  reaction. 

15. esFkkWDlhesFksu dh HI ds lkFk vfHkfØ;k dh fØ;kfof/k fyf[k,A 3 

 Write the mechanism of the reaction of HI with Methoxymethane. 

16. (i) xSfcz,y FkSfyekbM la'ys"k.k ij y?kq fVIi.kh fyf[k,A 2 

  Write short note on Gabriel phthalimide synthesis.  

 

 (ii) D;ksa ,sfuyhu ÝhMsy-Øk¶V~l vfHkfØ;k iznf'kZr ugha djrh \ 1 

  Why Aniline does not undergo Friedel-Crafts reaction ? 

17. (i) js'ksnkj izksVhu ,oa xksfydkdkj izksVhu esa vUrj fyf[k,A 2 

  Write differences between fibrous and globular proteins. 

 (ii) ySDVksl ds ty vi?kVu ls dkSu-ls mRikn curs gSa \ 1 

  What are hydrolysis products of lactose ? 
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[ nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u    ]    

[ Long Answer Type Questions ] 

18. (i) oS|qr-jklk;fud Js.kh D;k gS \ blds rhurhurhurhu vuqiz;ksx nhft,A 3 

  What is electrochemical series ? Give its three applications. 

 (ii) 4NiSO ds ,d foy;u dk IySfVue bysDVªksMksa ds chp 10 ,sfEi;j dh /kkjk izokfgr djrs gq,]              

10 feuV rd fo|qr~ vi?kVu fd;k x;kA Ni dh fdruh ek=k dSFkksM ij fu{ksfir gksxh \ )( 7.58Ni  2 

  A solution of 4NiSO  is electrolysed between platinum electrodes using a 

current of 10 amperes for 10 minutes. What mass of Ni deposited at the 

cathode ? )( 7.58Ni  

vFkokvFkokvFkokvFkok    

OR 

 

 (i) eksyj pkydrk D;k gS \ lkanzrk ds lkFk buds ifjorZu dh xzkQ cukdj foospuk dhft,A 3 

  What is Molar conductivity ? Discuss their variation with concentration 

graphically. 
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 (ii) ;fn ,d /kkfRod rkj esa 1.5 ,sfEi;j dh /kkjk 3 ?kaVksa ds fy, izokfgr gksrh gS] rks rkj esa ls fdrus 
bysDVªkWu izokfgr gksaxs \   2 

  If a current of 1.5 amperes flows through a metallic wire for 3 hrs, then 

how many electrons would flow through the wire ? 

19.  (i) ysUFksukbM ladqpu D;k gS \ ysUFksukWbM ladqpu ds nks nks nks nks ifj.kke fyf[k,A 2  

  What is meant by Lanthanoid Contraction and write down its two 

consequences ?  

 (ii) 722 OCrK  dh vkDlhdj.k fØ;k dk mYys[k dhft, rFkk fuEu ds lkFk vk;fud lehdj.k    
fyf[k, %   3 

  (a) vk;ksMkbM vk;u 

  (b) vk;ju (II) foy;u  

  (c) SH2  

  Describe the oxidizing action of 722 OCrK  and write Ionic equation for its 

reaction : 

  (a) Iodide Ion 

  (b) Iron (II) Solution  

  (c) SH2  
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vFkokvFkokvFkokvFkok    

OR 

 (i) ikbjksyqlkbV v;Ld ls iksVSf'k;e ijeSaxusV cukb,A 3 

  Prepare Potassium Permanganate from Pyrolusite ore. 

 (ii) tyh; foy;u esa f}la;ksth vk;u ds pqacdh; vk?kw.kZ dh x.kuk dhft,] ;fn ijek.kq Øekad 25 gSA 2 

  Calculate the Magnetic moment of a divalent ion in aqueous solution with 

atomic number 25. 

 

 

20. Describe with equations : 

 lehdj.k }kjk o.kZu dhft, % 

 (i) dSfutkjks vfHkfØ;k   2 

  Cannizaro reaction 

 (ii) DyhesUlu vip;u   2 

  Clemmensen reduction 

 (iii) jkstsueqaM vip;u   1 

  Rosenmund reduction 
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vFkokvFkokvFkokvFkok    

OR 

 ,d dkcZfud ;kSfxd (A) ftldk vkf.od lw= OHC 88  gS] 2, 4 - DNP vfHkdeZd ds lkFk ukjaxh-yky 

vo{ksi  iznku djrk gS vkSj NaOH  dh mifLFkfr esa 2I ds lkFk xeZ djus ij ,d ihys jax dk vo{ksi 

cukrk gSA ;g ;kSfxd VkWysu-vfHkdeZd vFkok Qsfyax-foy;u dks vipf;r ugha djrk vkSj u gh ;g 

czksehu ty vFkok cs;j-vfHkdeZd dks o.kZfoghu djrk gSA ;g Øksfed vEy }kjk izcy vkWDlhdj.k ls 

,d dkcksZfDlfyd vEy (B) cukrk gS ftldk vkf.od lw= 267 OHC  gSA ;kSfxd (A) o (B) dks igpkfu, 

,oa iz;qDr vfHkfØ;kvksa dks le>kb,A 5 

 An organic compound (A) with Molecular formula  OHC 88  forms an orange-red 

precipitate with 2, 4 - DNP reagent and gives yellow ppt. on heating with 2I  in 

presence of NaOH. It neither reduces Tollen's or Fehling's reagent nor does it 

decolourise bromine water or Baeyer's reagent. On drastic oxidation with 

chromic acid, it gives a carboxylic acid (B) having molecular formula 267 OHC . 

Identify the compound (A) and (B) and explain the reaction involved. 

 

S 
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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 20 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 20 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : A SET : D 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

    

lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %lkekU; funsZ'k %    

 (i) LkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaALkHkh iz'u vfuok;Z gSaA    

 (ii) izR;sd iz'u ds vad mlds lkeus n'kkZ, x, gSaA 

 (iii) ç'u la[;k 1 esa iUnzgiUnzgiUnzgiUnzg (i - xv) oLrqfu"B izdkj ds iz'u gSaA izR;sd iz'u 1 vad dk gSA ftuds lghlghlghlgh 
mÙkj viuh mÙkj&iqfLrdk esa fy[kus gSaA 

 (iv) ç'u la[;k 2 ls  9 rd vfry?kq mÙkjh; ç'u gSaA çR;sd iz'u 2 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 30 'kCnksa esa nhft,A 

 (v) ç'u la[;k 10 ls  17 rd y?kq mÙkjh; ç'u gSaA çR;sd ç'u 3 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 40 'kCnksa esa nhft,A 
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 (vi) ç'u la[;k 18 ls  20 rd nh?kZ mÙkjh; ç'u gSaA çR;sd ç'u 5 vadksa dk gSA izR;sd iz'u dk mÙkj 
yxHkx 70 'kCnksa esa nhft,A 

 (vii) iz'u-i= esa lexz :i ls dksbZ fodYi ugha gSA rFkkfi 5 vadksa okys lHkh lHkh lHkh lHkh nh?kZ mÙkjh; iz'uksa esa 
vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,d,d,d,d gh iz'u djuk gSA 

General Instructions : 

 (i) All questions are compulsory. 

 (ii) Marks for each question are indicated against it. 

 (iii) Question Number 1 consists of fifteen (i-xv) objective type questions carrying 

1 mark each. Candidates have to write the correct answer in their answer-

book. 

 

 (iv) Question Numbers 2 to 9 are very short answer type questions of 2 marks 

each. Answer these in about 30 words each. 

 (v) Question Numbers 10 to 17 are short answer type questions of 3 marks 

each. Answer these in about 40 words each. 

 (vi) Question Numbers 18 to 20 are long answer type questions of 5 marks each. 

Answer these in about 70 words each. 

 (vii) There is no over all choice. However, internal choice is given in all long 

answer type questions of 5 marks each. You have to attempt only one of the 

given choice in such questions. 
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[ oLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'uoLrqfu"B iz'u    ]    

[ Objective Type Questions ] 

  1. (i) fdl ij rkieku dk izHkko ugha gksrk gS \ 1 

  (A) eksyyrk (B) ukeZyrk 

  (C) eksyjrk (D) vk;ru izfr'kr  

  Which is independent of temperature ? 

  (A) Molality (B) Normality 

  (C) Molarity (D) Volume %  

 (ii) LVS.MMZ gkbMªkstu bysDVªksM (SHE) ds fy, LVS.MMZ bysDVªksM iksVsfU'k;y gS % 1 

  (A) –0.5 V (B) + 1.0 V 

  (C) 0.0 V (D) + 2.0 V 

  Standard Electrode potential for Standard Hydrogen Electrode (SHE) is : 

  (A) –0.5 V (B) + 1.0 V 

  (C) 0.0 V (D) + 2.0 V 
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 (iii) ,d vfHkfØ;k A ds izfr izFke rFkk B ds izfr f}rh; dksfV dh gSA osx lehdj.k fyf[k, % 1 

  (A) osx = [ ] [ ]12
BAK  (B) osx = [ ] [ ]

11
BAK  

  (C) osx [ ] [ ]
21

BAK=  (D) osx [ ] [ ]
22

BAK=   

 

  A reaction is first order in A and second order in B. Write the rate law 

equation : 

  (A) Rate = [ ] [ ]12
BAK  (B) Rate = [ ] [ ]

11
BAK  

  (C) Rate [ ] [ ]
21

BAK=  (D) Rate [ ] [ ]
22

BAK=   

 

 (iv) ;kSfxd [ ])()( 223 NOClNHPt  esa IySfVue dh milgla;kstdrk D;k gS \   1 

  (A) 4 (B) 8 

  (C) 6 (D) 2 

  What is the co-ordination number of platinum in [ ])()( 223 NOClNHPt  
compound ? 

  (A) 4 (B) 8 

  (C) 6 (D) 2 
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 (v) ,d izkFkfed ,Ydkby gsykbM izkFkfedrk ls n'kkZrk gS %  1 

  (A) foyksiu (B) 1
NS   

  (C) 2
NS  (D) buesa ls dksbZ ugha   

  A primary alkyl halide would prefer to undergo : 

  (A) Elimination (B) 1
NS   

  (C) 2
NS  (D) None of these 

 (vi) fofy;Elu la'ys"k.k D;k cukus ds fy, mi;ksx gksrk gS \ 1 

  (A) ,sYdksgkWy (B) bZFkj 

  (C) ,sehu (D) dhVksu 

  Williamson synthesis is used to prepare : 

  (A) Alcohol (B) Ether 

  (C) Amines (D) Ketones 

 (vii) ;kSfxd CHOCHCHCHCH 233 )( dk IUPAC uke ………….. gSA 1 

  IUPAC name of the compound CHOCHCHCHCH 233 )(  is ………….. . 

 (viii) fuEu dks {kkjh; 'kfDr ds ?kVrs Øe esa fyf[k, % 1 

  3252252256 ,)(,, NHNHHCNHHCNHHC  
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  Arrange the following in decreasing order of their basic strength : 

  3252252256 ,)(,, NHNHHCNHHCNHHC  

 (ix) fuEu vehuksa vEyksa esa ls dkSu-lk /kqzo.k ?kw.kZd ughaughaughaugha gS \ 1 

  (A) Xykblhu (B) oSyhu 

  (C) ,sykfuu (D) Y;wlhu 

  Which of the following amino acids is not optically active ?  

  (A) Glycine (B) Valine 

  (C) Alanine (D) Leucine 

 (x) vfHkfØ;k dh dksfV gS ………….. , tc 1224103 −−−×= SmolLK . 1 

  Order of reaction is ………….., when 1224103 −−−×= SmolLK . 

 (xi) fuEu lehdj.k dks iwjk dhft, % 1 

.............
.

413
42

23 →
K

SOHConc
OHCHCH  

  Complete the following equation : 

.............
.

413
42

23 →
K

SOHConc
OHCHCH  
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 (xii) foVkfeu ^lh* dh deh ls gksus okyh chekjh ………….. gSA 1 

  Deficiency of Vitamin 'C' causes ………….. .  

 (xiii) ijklj.k nkc D;k gS \ 1 

  What is osmotic pressure ? 

 (xiv) ])([ 3423 OCFeK ;kSfxd dk IUPAC uke fyf[k,A 1 

  Write IUPAC name of ])([ 3423 OCFeK  Compound. 

 (xv) izkFkfed ,sYdksgkWy dk dkcksZfDlfyd vEy esa vkDWlhdj.k ds fy, iz;qDr vfHkdeZd dk uke  
crkb,A 1 

  Name the reagent used in Oxidation of a primary alcohol to carboxylic acid. 

[ vfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'uvfry?kq mÙkjh; iz'u    ]    

[ Very Short Answer Type Questions ]        

  2. 4.6 g ,FksukWy )( 23 OHCHCH  ds 200 g csUthu esa foy;u dh eksyyrk dh x.kuk djsaA 2 

  Calculate the Molality of 4.6 g ethanol )( 23 OHCHCH  in 200 g of benzene. 

  3. v/kkZ;q rFkk vfHkfØ;k osx dks ifjHkkf"kr dhft,A 2 

 Define half life period and rate of reaction.  

  4. cgqnUrh ,oa f}nUrh fyxs.M dks mnkgj.k lfgr le>kb;sA  2 

 Explain polydentate and bidentate ligands with example. 
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  5. 1
NS  vfHkfØ;k D;k gS \ mnkgj.k lfgr O;k[;k djsaA 2 

 What is  1
NS  reaction ? Explain with example.   

  6. laØe.k /kkrq,¡ rFkk buds vusd ;kSfxd mÙke mRizsjd dk dk;Z D;ksa djrs gSa \ 2 

 Why transition metals and their many compounds act as good catalyst ?  

  7. esFkkWDlhcsUthu ij ÝhMsy-Øk¶V~l ,sfYdydj.k dk mnkgj.k lfgr O;k[;k dhft,A 2 

 Explain with example Friedel-Crafts alkylation of Methoxybenzene.  

 

  8. ,sFksuSy dks C;wV-2-bZuSy esa ifjofrZr djsaA 2 

 Convert Ethanal to But-2-enal.  

  9. dkfcZy,sehu vfHkfØ;k ij laf{kIr fVIi.kh fyf[k,A 2 

 Write short notes on Carbylamine reaction.  

[ y?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'uy?kq mÙkjh; iz'u    ]    

[ Short Answer Type Questions ] 

10. (i) ijklj.k ,oa izfrykse ijklj.k dks mnkgj.k lfgr ifjHkkf"kr dhft,A 2 

  Define Osmosis and Reverse Osmosis with one example of each. 
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 (ii) vlkekU; eksyj nzO;eku dk dkj.k nhft,A 1 

  Give reason for Abnormal Molecular mass. 

11. fuEufyf[kr ds vip;u ;k vkWDlhÑr ds fy, fdrus vkos'k dwykWe dh vko';drk gS \ 3 

 (i) ,d eksy +3Fe  dks +2Fe  

 (ii) ,d eksy ZnO  dks Zn  

 (iii) ,d eksy 
3

CrO  dks +3Cr  

 How much charge required in Coulomb for the following reductions or   

oxidations ? 

 (i) 1 mole of +3Fe  to +2Fe  

 (ii) 1 mole of ZnO  to Zn  

 (iii) 1 mole of 
3

CrO  to +3Cr  

12. IySfVue lrg ij 3NH  dk vi?kVu 'kwU; dksfV dh vfHkfØ;k gSA 2N  ,oa 2H  ds mRiknu dh nj D;k 

gksxh] tc K dk eku 2.5 11410 −−−× SLmol  gks \ 3  

 The decomposition of 3NH  on Platinum surface is zero order reaction. What are 

the rate of production of 2N  and 2H ; if K = 2.5 11410 −−−× SLmol  ? 
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13. le>kb, D;ksa [ ]
+3

62 )( OHFe izcy vuqpqacdh; gS tcfd [ ]
−3

6)(CNFe nqcZy vuqpqacdh; gS \ 3 

 Explain why [ ]
+3

62 )( OHFe  is strongly paramagnetic whereas [ ]
−3

6)(CNFe  is 
weakly paramagnetic ? 

 

14. 125HC ds leko;oh ,sYdsuksa esa ls igpkfu,] tks izdk'k jklk;fud Dyksjhuhdj.k ij nsrk gS % 3  

 (i) dsoy ,d eksuksDyksjkbM 

 (ii) rhu leko;oh eksuksDyksjkbM 

 (iii) pkj leko;oh eksuksDyksjkbM 

 Among the isomeric alkanes of ,125HC  identify the one that on photochemical 

chlorination yields : 

 (i) A single monochloride  

 (ii) Three isomeric monochlorides 

 (iii) Four isomeric monochlorides  

 

15. ,Fkhu ds ty;kstu ls ,FksukWy izkIr djus ds fy, rhurhurhurhu pj.kksa dh fØ;kfof/k fyf[k,A 3 

 Write the three steps mechanism of hydration of ethene to yield ethanol. 

16. (i) gkWQeku czksesekbM fuEuhdj.k vfHkfØ;k ij y?kq fVIi.kh fyf[k,A 2 

  Write short note on Hofmann's bromamide degradation reaction.  
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 (ii) ,sjkseSfVd ,sehuksa ds Mkb,stksfu;e yo.k ,sfyQSfVd ,sehuksa ls izkIr yo.k ls vf/kd LFkk;h D;ksa gksrs 

gSa \ 1 

  Why Diazonium salts of aromatic amines are more stable than aliphatic 

amines ? 

17. (i) XykbdkslkbMh ca/k rFkk isIVkbM ca/k D;k gSa \ 2 

  What are glycosidic and peptide linkage ? 

 (ii) vko';d ,sehuksa vEy D;k gksrs gSaa \ 1 

  What are essential amino acids ?   

[ nh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'unh?kZ mÙkjh; iz'u    ]    

[ Long Answer Type Questions ] 

18. (i) 0.05 mol 1L−  HCOOH dh pkydrk 40 S cm2 mol
–1
 gSA bldh fo;kstu ek=k              

,oa fo;kstu fLFkjkad dk ifjdyu dhft,A fn;k gS fd 12

)(
molcm6.349 −

+ =λ S
o

H
 ,oa   

12
)( molcm6.54 −

− =λ SHCOO
o  3 

  The Molar conductivity of 0.05 mol 1L−  HCOOH is 40 S cm2 mol
–1
. 

Calculate its degree of dissociation and dissociation constant. Given  

12

)(
molcm6.349 −

+
=λ S

o

H
 and 12

)( molcm6.54 −
− =λ SHCOO

o . 
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 (ii) la{kkj.k D;k gS \ la{kkj.k ls cpkus dh fof/k;ksa dh O;k[;k dhft,A 2 

  What is Corrosion ? Explain methods to prevent corrosion. 

vFkokvFkokvFkokvFkok    

OR 

 

 (i) Cu 23 )(NO ds foy;u dks 0.5 ,sfEi;j dh /kkjk ls 20 feuV rd oS|qr vi?kfVr fd;k x;kA 

dSFkksM ij fu{ksfir dkWij dk nzO;eku D;k gksxk \ ( 5.63Cu ) 2 

  A solution of Cu 23 )(NO  is electrolysed for 20 minutes with a current of 0.5 

amperes. What is the mass of copper deposited at the cathode ? ( 5.63Cu ) 

 (ii) dksyjkm'k dk fu;e D;k gS \ blds vuqiz;ksxksa dh mnkgj.k lfgr O;k[;k dhft,A 3 

  What is Kohlrausch law ? Discuss its applications with examples. 

19.  (i) laØe.k rÙo vusd ladqy ;kSfxdksa dh jpuk D;ksa djrs gSa \ mnkgj.k lfgr O;k[;k dhft,A 2 

  Why do transition elements exhibit tendency for complex formation, explain 

with example ? 

 (ii) D;k gksrk gS] tc iksVSf'k;e MkbØksesV (a) vk;ksMkbM vk;u (b) +2Fe  foy;u (c) SH2  dks 
vkWDlhÑr djrk gSA bu vfHkfØ;kvksa dh vk;fud lehdj.k fyf[k,A 3 

  What happens when potassium dichromate oxidise (a) Iodide ion                        

(b) Iron (II) solution (c) SH2  ? Write ionic equations for its reaction. 
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vFkokvFkokvFkokvFkok    

OR 

 (i) ,d f}la;ksth vk;u ds pqacdh; vk?kw.kZ dh x.kuk dhft,] ftldk ijek.kq Øekad 27 gSA 2 

  Calculate Magnetic moment of a divalent ion whose atomic number is 27. 

 (ii) fuEufyf[kr ds lanHkZ esa ,sfDVukW;M rFkk ySUFksukW;M ds rÙoksa ds jlk;u dh rqyuk dhft, % 3 

  (a) bysDVªkWfud foU;kl 

  (b) vkWDlhdj.k voLFkk,¡ 

  (c) jklk;fud vfHkfØ;k'khyrk 

  Compare the chemistry of the actinoids with that of lanthanoids with 

reference to : 

  (a) Electronic configuration 

  (b) Oxidation states 

  (c) Chemical reactivity 

20. (a) (i)   Li"V djsa izksisukWy dk DoFkukad gkbMªksdkcZu ls vf/kd D;ksa gksrk gS \ 1 

  (ii)  vkFkksZ-ukbVªksQhukWy] vkFkksZ-esFkkWDlhQhukWy ls vf/kd vEyh; D;ksa gS \ 1 

  (iii)  ,YdksgkWy QhukWy ls de vEyh; D;ksa gS \ 1  

 (b) fuEufyf[kr ds fy, lehdj.k fyf[k, % 2 

  (i) QhukWy czksehu ,oa 2CS  ds lkFk 

  (ii) QhukWy ruq 3HNO  ds lkFk 
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 (a) (i)    Explain why propanol has higher boiling point then the hydrocarbon. 

  (ii)   Explain why ortho-nitrophenol is more acidic then ortho-methoxyphenol. 

  (iii)  Why alcohol is less acidic then phenol ? 

  (b)  Give  the equation of the following reaction : 

  (i) Bromine in 2CS with phenol. 

  (ii) Dilute 3HNO  with phenol.   

vFkokvFkokvFkokvFkok    

OR 

 fuEufyf[kr vfHkfØ;kvksa dks iw.kZ dhft, %  

 (a)  →
aciddil

CNCHHC
.

256  1 

 (b)  →+ OHNHCHOCH 23  1 

 (c)  →+
NaOHdil

COCHHCCHOHC
.

35656  1 

 (d)  →+ 33 PClCOOHCH  1 

 (e)  →+
+H

COOHCHOHCH 33  1 

 Complete the following equations : 

 (a)  →
aciddil

CNCHHC
.

256   
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 (b)  →+ OHNHCHOCH 23   

 (c)  →+
NaOHdil

COCHHCCHOHC
.

35656   

 (d)  →+ 33 PClCOOHCH   

 (e)  →+
+H

COOHCHOHCH 33   

  

 

S 
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